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w—y2, (z,y) # (0,0)
flz,y) = ¢ Vat +a?y? + ¢
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(58) A (L,1)o1A gtsegte] 71 B S7kohs Waol v =
(cosf,sin ) o, tan 65 FLSHA] Q.
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A 4 [154] BRI A= T F 3 By, g 2 0% 2= F
Aol tistel, Brelel ot 28-S At Wol Bhlo 4] WEAbalE The
24 Fsto] HiAbES HolAl L.
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TS 2.

T flz,y) =
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A4 6 [154] &= f(x,y) = e”log(1 + y)°ll tote] o2 =5
g L.

(a) (54) HHANA 32} ZAFFR}A T f(x,y)E oA L
(b) (103) €% log1.1 — T5f(0.1,0.1)| < 5x10™* Q& HoJA Q.
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24 9 [104] A F(r,0) = (rcosd, rsin0)2} AFAMY G : R? —
R20f| thote] det(GoF) (2,7/6) = 3 & mf, det G’ (1,1)L F5IA| L.

(t) = (t,sint,cost) (1 <t < e?)o] ths}e]

/ logxdx — zdy +ydz

B4 11 [109) ay=-2700l 4 I8 ohg W] ages
= A9,
F(z,y,2) = (yz2 cosz, 22sinz + 2 sinh(1 + yz),
2yzsinz + ysinh(1l + yz) + 2)

A 12 [157]] HEPH| 0 2& WP H, & H = {(z,y) |z > 0}
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